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1. Add: -18+14 _/é?,:/yrE\__ _fo// 4
_ ,étﬁ_ﬂwi /)
-18+14 = ' (Type an integer.) (/___ ot = ) 7
Answer: -4 o C\.//
ol
ID: Quick Check R.2.6 .
2. Add. *
4
-6+6 :
—G 7% — py
—6+6= | e t/,

Answer: 0

ID: Quick Check R.2.9

Subtract the following.

-8-7

Answer; -15

ID: Quick Check R.2.19

4. Find the product.
-3(8)

(-3)6=

Answer: -18

ID: Quick Check R.2.25

The answer is | E //

~§-7- /

- s~ = ‘y (/

5. Evaluate the expression.,

(~5)2

(-5)7°=

Answer: 25

ID: R.4.31

(Simplify your answer.)
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6. Find the value of the expression.

Answer: —2401

ID: R.4.33

) (Simplify your answer.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

7 _ | =<

-7 '
~(7)(7)(7)(7) <
—(%9) (7)(7)~=
(33X 7))

Bhhasal < T

7. Evaluate the expression.

2+ 2e(7-5)= @>

2+3-(7—§) 2~ Je (2) =
2+3+(7-5)=
27 6=
Answer: 8 f
- ID: R.4.43 <
8. Simplify. —2 (‘7*—(/“‘5)I (/(/7?,04,5
-2[9-(1-5)]
-2 —
-2[9-(1-5)]=| [ g ( f)J

Answer: —26

ID: R.4.45

9. Evaluate the expression.

10 - (- 25)
5

10 - (- 25)
= "

Answer: 7

ID: R.4.47

1 (Type an integer or a simplified fraction.)

/C'J w—(:és’_) o o

20f43.

=
/0 2 _
t_ 5": - -
2C
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10. Evaluate the expression. 5/’ “/3”—(— 3 e ('S _”(L(})/r -
hrer o gl A=

(Simplify your answer.)
To(s+2(] = Q/M )4 5
Answer: 104 % ( 2 (’ T

ID: R.4.53 _ B Qf}_}:,
) ining I 2(@ f—7) Z(fféf/)

11. Simplify the following expression by combining like terms.
3(z+7)-2(4z+1) :gg 1 2.4 "—fé J& iy

(z+7)-2(4z+1)= (Slmpllfy your answer. Do not factor) 8

finalm1314C0093sulllljjfoil-Alfredo Alvarez

4:[5+3+(5+2)]=

Answer: -5z+19 —
(ﬁ%mzw>;x

ID: Quick Check R.5.27

Simplify the following expression by combining like terms. — < (/‘/_ 5) — (4;-’/4/ _5) s

12.
- 5(6x - 5) - (4x + 3) ( 6 X - ,( (L//f ;:)
- 5(6x - 5) - (4x +3) = | -—/‘U/f + 7 _#(_/:/:( 3 i
Answer: - 34x+22 —~ o
&= 3//+ﬂz:%ﬂwmj)

ID: Quick Check R.5.28

13. Evaluate the following expression for the value given. "_
22X A6 e~ Q/f

-2x° +6x-8; x= -5

The expression — 2x2 +6x — 8 evaluated when x= -5 i s ] . (Type an |nteger)

~¢ () S 16 () ~ 2
ID: R 5.48 Cl(=A~<) + G.Fs‘) ~— ,,' -
RS -‘_// 4 '5'--,) —re 6(_ S_—)— - ’)/”___7

o = 20 —F 7 fﬁ )

,_270"/5 <

T~

o=

Answer: -88

= = 9/26/2019, 12:34 PM
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14. Simplify the following expression by combining like terms.

-3z-2z+7
-3z-2z+7= (Simplify your answer. Do notigctor.) e
= —L% ]z
Answer: —5z+7 === - = :
& —S & T1T7 TN
ID: R.5.65 ““"‘--——~——— —

15. Simplify the following expression by combining like terms. /36 —{—— " — / §( 2 — 6 B
132+5-142-6 / / B
. = B -
o’ % — ( —Z ‘m\‘

13z+5-14z-6= (Type a simplified expression.)

Answer: =z~ 1 QH-.__ B
ID: R.5.67
16. Simplify the following expression by combining like terms. 2 (\,/ = C.) == 5 (? (/s( )
3(v-6)+5(3v-1) 2[’/ ____/ C{ + [ s/ —=

3(v-6)+5@3v-1)= ' | (Simplify your answer. Do not factor)

C /zf/~z;

Answer: 18v-23

ID: R.5.83

= T — 7
17. A / LM (g 2 7
Simplify by factoring. (/ Z ¥V T ' /

e o l k— (Type an exact answer, usmg radicals as neede{) d( o
. = YW t i
Answer: 2,/6 6/_ 6/6/ - / 2 Lé’
6 & F3

)\ Ve o
ID: Quick Check R.6.25 . l

18. Simplify by adding the polynomials. ( z )( _—7 £~f7 /-f ( é X -+ / / N — ( Z( )
(2x%-7x +7) + (6x° + 18x - 18) Z,S( A7Xf} TG{Z f‘/é){/ / o

(2x —7x+7)+(6x +18x-18)=|

(Simpify your answer. Do not factor)Q/L ,_YL / r )( )

Answer: gy? + 11x - 11

ID: Quick Check R.9.18
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19. Simplify the following by subtracting the polynomials.

V4

(oy-y? +4y+7) - (3 +11y% -6y +4) ° \\,/
VL C/

(9V -y +4V+7) (Y +11y -6y+4)-.- (Do notfacto/ L L
Answer: g3 - 122 v10y+3 ] {7 "L Y [/ 7/ “// —/(/ *’f‘ & 7
ID: Quick Check R.9.22 Q Z']/ “/(/ /0/ rﬁ -—-

20. Simplify.
(9y3'5y2+3y+1)—(—2y3+6y+9)
(9y° -5y* +ay+1) - -2y +6y+9) / @0 notfactor) gl
Answer: 11y3 - 5y - 3y -8 (/7 ’Y/ 139 *r’ / 7’ Z / = ej - T =
ID: Quick Check R.9.23 &/ / / — 5 - — 3% ) _F= )

21. Multiply.
@®)6x") (7 X ) ( 5/
(4x5)(6x7)=; | (Simplify your answer.) L/ )( 7 7

—~

P [
Answer: 94,12 i LL/ )( - \
A

ID: Quick Check R.10.1
_ — I S - S

22. Find the product. e 3 1\ A ¢ 3 ~
(sx;;)(-nsm =2 / S/ 7 ) /7)( 7 ) '

(sxy) (-7x5y®) =/ | (Simplify your answer.) '—5 S ' X L B

Answer: _ 35,84 _ 27 r'_/_“—__” OIS
(’ —55 X j = )

ID: Quick Check R.10.2 = )

50f43 ' —— — 9/26/2019, 12:34 PM
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23. Use the distributive property to remove the parentheses. 7 ﬂ?‘ “*\
- 4(x+5) % //fff)‘:

—4(x+5)=

ot o , B
: s X —20 T %
Answer: —4x-20 @ ____________,,—f-—/'/

ID: Quick Check R.10.4

~ mm—

7.._..."_ _'_'_j —— — ____
24. Multiply and simplify the expressions. GX ‘(( )( d_r 7>(, + (// )
Bx(X% + 7x + 4) (—f P

. : ! |
6x(x2+7x+4)= | (Simplify your answer.) é /( —F (_(9\ X *"fF 2 C( )< -
XAl 2y

ID: Quick Check R.10.5 -
; Find th_e roduct. - - 7 ( \,- § - / i ¢ =
j -—%&é(@af—(‘—ééié~é =

- 4a*b(6a> +5ab - b2)

~4a*b(6a® + 5ab - bz) | (Simplify your answer) Lf‘f'/é {.(// (f‘ &cfé (€

-4 “y 0 d =
Q—?y & by -—/c/( é =7 »é:‘j

Answer: _242"p -20a°b? +4a’b°

ID: Quick Check R.10.6 e

e ——_—

26. Find the product of the two binomials. 6/
z /( Krv) @

(x+6)(x+4)

(x+6)(x+4)" (Slmpllfyyouranswer)/ + %)( —75 G)(/—{L Z/y -l

AnSWer: 2 & 10x.+ 24 QX +/ 0»( +2% \

ID: Quick Check R.10.9
e

— —

27. Use the FOIL method to find the product. / Z K- ,fj—)( / )( — =

(2x + 5)(2x - 1)

(2x + 5)(2x - 1)— (Simplify your answer.) #X - Z/}< _fL/"j/( —S8 =

Answer: 4,2 4+ 8x - 5 Q 4X "t“ ZKF’_{‘—‘ ;ﬂ,,,)'

ID: Quick Check R.10.10

6ofd3 R— 9/26/2019, T2:34 PM
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28. Find the product. ( 7‘61 / / aArs Z?) z

(4a - b)(a + 5b)

2
Ya "‘T zuqf —gl =5 <
(7/ ’{L()uc})"“l(«z)"” Vll7~

Answer: 422 + 19ap - 5p2 —

&/’1’1 Tt [Fab —si

29. Find the product of the polynomials. (‘de__(/ /(‘( .f-z/(( ,f)

(2a-6)(6a° +4a-5)

(4a-Db)(@@+5b) =

ID: Quick Check R.10.11

L

i 2
/2@ "f-'g( F/O(KPZ(CL _2\/(\\ ._{« 20 —

(2a-6)(6a’ +4a-5) =

Answer: 1253 - 283 - 34a + 30 &/Z 5‘ Y | (JL =3¥A- o= \

ID: Quick Check R.10.12 .H,/--' _// g e / J /
P — —— 2
Y — = — L’ 4
30. Multply vertcally- - A g’,.( S — 7/ + Gf X + {.m/ --_:,(,)( of ?WTZ\
(x +8x+5) (Bx +5x 7) ,__)),_
(x? +8x+5) (8x% +5x-7) =| | (Simplify your answer)

/d’/ A4 69X wr%’x 53K ~Bs

Answer: g4 4 6gx° + 73x% - 31x - 35 K

ID: Quick Check R.10.13

31. Find the product using the difference of two squares formula.
(2x + 5)(2x - 5)

(2x + 5)(2x - 5) = |

Answer: 4,2 _ 25

ID: Quick Check R.10.16

/_\
2rF (=)
Y @r%‘f/" * S

( Yt —25 = N
J

TORAT ™ e 972672019;°12:34 PM
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32. Multtiply using the rule for the square of a binomial. é/:_/ (.)/ .

(x—10)2—_; 0/,/,_///(\'{9) .

(x-10)2 =|

Answer: 42 _ 20y + 100 e ———a O\

C”ﬁ,\_/'*' —20X7/09 =
ID: Quick Check R.10.21

— N = —— ————— —_— e -

33. Find the product. 2 ra
(9x + 3)2 ﬁ)( A 3/
(,xfs/(;m;) =
Axt +LIX+ 22K *7“5
Answer: gqx? + 54x +9 .
% 1)
ID: Quick Check R.10.22

34. Find the product

o) - f/‘x 7/ 3X ) :

(4x2y) (—3xy5) =| | (Simplify your answer.) Vg / [5 T

Answer: _ 12,38 (7

Q// X256

(9x+3)° =

35. Multiply and simplify the expressions.

e ( =
8X(x2 + 6x + 4) __,___.-——3 7)( (‘ X - — 6/(/(?’ ) z
8x(x% +6X + 4) = | |(S|mpllfy your answer.) 27?( L1 ) (( 2‘/ /< -—f* ?Z)( {_:

Answer: gy3 4 48x% + 32x

ID: R.10.27 &5 )< + k{(ﬁ )( _{# EZK——‘ /

8 of 43 9/26/2019, 12:34 PM
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36. Find the product of the two binomials. -
/ ] . )
(X + 2)(x + 6) (/fr—(_/ﬂ(%} Z

(x+2)(x+6)= : (Simplify your answer.)
'— Xt G~ X7 (7 =
Answer: 42 | gy + 12

: l ﬁxm‘“‘j‘h
ID: R.10.35 ()( T f{_ﬂj—/—’)

R

TIE——

37. Find the product.

(x+10)(x-8)

(x+10)(x - 8) =

Answer: ,2 , 5y _ g0

ID: R.10.37

S~ e — ——— — — — — ————— —— —

38. Use the FOIL method to find the product.

(5x +7)(2x - 1) @ %;_7:2?& Xﬂ}) al

(5x + 7)(2x = 1) = ' (Simplify your answer.) Y .

- fOXT ~5 X +I¥L -7 =
Answer: 1042 + gx -7 .

b
ID: R.10.39 &
::F'dth- duct of the two binomial - >~
: in e product o e 0 binomiails. 6— 77<)[ Y—'f y)( ) -
(6 — 7x)(5 + 4x) o

. . .2—“
(6-T7x)(5+4x) = (Simplify your answer.) 3&»’ i <3 X = 3¢ X —27 X =

Answer: _28y? — 11x+30 -jk) /{ X e— C 8)7/\/") F

ID: R.10.41

N X 3> = )

9 of 43 9/26/2019, 12:34 PM
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{7(\ T S‘L)( L/é) = .

——-Z,(-SCL[—) ‘L'S'C‘\L) '_Z/C)}.,;‘Z

40. Find the product of the two binomials.

(7a + 5b)(a - 4b)

(7a+5b)(a-4b)= (Simplify your an er.) » 7 ) . — - \
— TP 7at —23 kb 2ob
Answer: 732 -23ab- 20b2 R e
ID: R.10.45

41. Determine which of the given numbers are solutions to the equation.

-9x+4=-5x=-1,x=1,x=3 — (-} )(,__’ (_/ ~ —
Is x= —1 a solution to the equation? = ah/ﬁ” R = —y /X/O
Yes G+
e T i

Is x =1 a solution to the equation? i
~9(1) +7 =3 }’(. s
No — Ay =Y \
Y — (=
= —s = —K (oo ¢ o

Is x =3 a solution to the equation? NSRS

No —4 (’3)”;7_ y@
Yes _/2/// + y - G\ //L// 7
Answers No 273 'F:—F -

Yes

No

ID: Quick Check PF.1.3

——

—_—

42. Solve the following equation. é /('-" 5 — l; =3

-~

6x+3=15 G)(~I'§ /_3 -~ /\: _3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 6 )( / 2

A. The solution set is { } (Type an integer or a simplified fraction.) [
. 6X - Il
B. The solution is all real numbers. —
G G
C. The solution is the empty set. e
Answer: A. The solution set is { 2 ' t. (Type an integer or a simplified fraction.) R
ID: Quick Check PF.1.8
e R S

10 of 43 —_— | 9/26/2019, 12:34 PM
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- 25
i i . . w— [ { — ) -~ Ay
43. Solve the following equation and verify your solution. : - 2 ? 2z 7

—C £ — P
-6x-7=29 - / ]

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

—GxT 36

A. The solution set is { } -
(Simplify your answer.) — (X B g¢
B. The solution is all real numbers. _':T - G

C. The solution is the empty set.

A6 D

Answer: A. The solution set is { } (Simplify your answer.) ( ==

ID: Quick Check PF.1.9

( i i i Xt 5 TEA €Y < CXF#1T]

44, Solve the following linear equation and verify the solution. L _ , ;
T {1 <= X =77

3Xx+3+4x+4=2x+17

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. . .., ..
€7~ < Al 7 /
A. The solution set is { b i — CX D
(Type an integer or a simplified fraction.) {- : g e = 7
w g iy B G FLITETH
B. The solution is all real numbers. / X
C. The solution is the empty set. 5’-)( — / O
. S— { — fu2
Answer: A. The solution set is { 2 %, (Type an integer or a simplified fraction.) h< NG = Jé_;
ID: Quick Check PF.1.11 e
i . = — _-, — e

45, Solve the following linear equation. - . - ’
° ¢ (K—1] < 3>
){ /D 3 O
Select the correct choice below and, if necessary, fill in the answer box to complete your cholce
8 S gpd T 2070 O
A. The solution set is { } (Type an integer or a simplified fraction.)
B. The solution is all real numbers. 5 i /'/ = ;/ 2

C. The solution is the empty set. . -y
X — &2

_—_ S'

5(x-2)=30

Answer: A. The solution setis { 8 r. (Type an integer or a simplified fraction.)

3
ID: Quick Check PF.1.14 ( /?/ f »

] of43 ! Me— 9/26/2019, 12:34 PM
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~3(x-2 )~ = C(X+3)F7v¥

A AGC—( T AU 35

—3IX A5 = T ST

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

=R Wbk — AYNAYT S
. A, The solution set is : - - 9
(Simplify your answir.) ; —3 /( = S :/_( ~ &
:-—-3(4%" XA G X

e

Answer: A. The solution set is { -6 b. (Simplify your answer.) — 7 L L f(._

46. Solve the following linear equation and verify the sofution.

-3(x-2)-1=4(x+3)+35

{1 B. The solution is all real numbers.

() €. The solution is the empty set.

ot R Y
Qui / x-S
ID: Quick Check PF.1.15 ; ol
= S — — = —

47. Solve the following linear equation. Be sure to verify your solution.
0.05x-2.2=0.02x-1.3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is { }
(Type an integer or a decimal.)

(") B. The solution is all real numbers.

() €. The solution is the empty set.

Answer: A. The solution set is { 30 }.(Type an integer or a decimal.)
- o 7 - 0.00— /.3
ID: Quick Check PF.1.23  (Jo (/5 )f -2gl '
T OiosA— z/z’ FHL: OO0TX—=LF 2T
Q.05 X < (Js0LK 49 |
O.05 N — 0,0 < O/(/; . X +.9 — 0.0

.03 X T 9

O 03X T Al
O 03 O‘,JJ

i =~y —

T — ——

—
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48. Solve the following linear equation. Identify the equation as an identity, contradiction, or conditional equation.
5(x+2)=5x+2

Select the correct choice below and, if necessary, fill in the answer box to complete your cljonce,“\

STX*L) = SX~T

{2} A. The solution set is { }- (Type an integer or a simplified fraction.)

) B. The solution is all real numbers. ‘; - /‘ VaS = 3 (/ -

C ’1 C. The solution is the empty set. ™, cy 7“/) /J X Z —
STy X— F

State whether the equatlon is an |dent|ty, contradiction, or conditional equation.

(' ldentity e : _— TR i 6/ b= ; 3/7\
- i S , " . 5 v —— f
,,-\--"T_‘T-fyaoni'radictior_'! - S )< 5 }< — '_'L -
D " Conditional equation P ;
£ C ) ()7 _
Answers C. The solution is the empty set. O /, }/( §u/ w o {7 ///L( b ‘f// f{» / i‘-
Contradiction E —_— _
— — ———-/— e —
< Cu “\ Z//t-c/Lc oS L/
ID: Quick Check PF.1.27 —
49, Solve the following equation and state whether it is an identity, a contradiction, or a conditional equation.
3x—-3)=2x-9+x
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
- - . — 7
2 ) T LT X
¢ A. The solution set is { ). ? ( X = 5 ) ¢ B
(Type an integer or a simplified fraction.) S o - 4 \( — ‘—z ol / <
(\_‘-«f_B_ The solution is all real numbers. 2X l 2 -
() €. The solution is the empty set or @. Y —]q - = X (_?

State whether the equation is an identity, contradiction, or condltlonal equatxon Choose the correct ghoice below

) A
S — G
Ks* 'ident{ty 3 X .(_? i } S/ _’,I L) //
“T—contradiction - : /( — /; X

conditional equation

< 3y Ik
Answers B. The solution is all real numbers. }X 3 )(
identity L:%) - C,) ¥

ID: Quick Check PF.1.28 Q‘_Z/ SJ /Vt —HW /) a/@/ V{L / 74 “ m /p VJ}

¢ ity

—

13 of 43 T OBEI942:34 PM
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2 /

50. Solve the following equation. (,;}/\ =4 } <
9x +3=21 G\~ g;; Z e —4
Select the correct choice below and, if necessary, fill in the answer box to c‘:omplete your choice. 22
‘/‘ \ ' l L
A. The solution set is { } (Type an integer or a simplified fraction.)

B. The solution is all real numbers, — 2/ ' I ]

C. The solution is the empty set.

Answer: A. The solution set is . (Type an integer or a simplified fractionJL 4 ) o g

ID: PF.1.43

51, Solve the following linear equation. 5 ( —f (} Y e —_
3z+9=8 _( _{,_ o '—ET?)."-. J— -c']'

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 3 , _CZ _— /

A. The solution set is { } (Type an integer or a simplified fraction.) Z'g‘ T e /
e e
B. The solution is all real numbers. } 2

C. The solution is the empty set. -

{ < _“x/’./ ‘7‘“)

1 F
Answer: A. The solution set is =3 . (Type an integer or a simplified fraction.) ™. } -
ID: PF.1.45
52. Solve the following linear equation. ' . e . )
— AW W 6 =—5

-3w+2w+6= -9

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

| et & =%
A. The solution set is { } (Type an integer or a simplified fracti_pn.}
B. The solution is all real numbers. - I LA {_)/’ (Q/ e —9— 6

C. The solution is the empty set.

—f{w T =[5

Answer: A. The solution set is § 15 }. (Type an integer or a simplified fraction.)
L o
ID: PF.1.47 __,_.-ff s /

< (/U /‘3\

< - e
e ——— ——
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Z(/rﬁ}”"

53. Solve the following linear equation.

2x+3)= -6 X6 =6
Z%J()f 5. T —0—§&

Select the correct choice below and, if necessary, fill in the answer box to complete your ¢ oice.

2 T

(' A. The solution set is { } (Type an integer or a simplified fraction.)
B. The solution is all real numbers.

C. The solution is the empty set.

Answer: A, The solution set is { -6 } (Type an integer or a simplified fraction.)
ID: PF.1.51
Wng—— - /—/I"T-i-:h‘ _‘._..-I E— —— =
54. Solve the following linear equation. e C < //l vl /ﬁ ,
5y 17 'y <m,_ .
13 78 6 s

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A, The solution set is { } (Type an integer or a simplified fraction.)
(3 B. The solution is all real numbers.

() C. The solution is the empty set.

Answer: A. The solution set is 1 b. (Type an integer or a simplified fraction.)

9 (78)— 4 /77)/ 2(79
73
/() ) - ) (

1tk )

15 oTa3——— - . B 9/26/2019, 12:34 PM
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X 31 X(Z‘f)""f’ ?*(/Zy) '?i\ff

9
o

55. Solve the following linear equation. Identify the equation as an  identity, © confradlchon or condltlanal equatlon ]w
| g \)
6

“ /(Cf)~r %:(3),- ~3/(l) ~——

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

FN 27X = =3/

) A. The solution set is { - } (Type an integer or a simplified fraction.)
i) B. The solution is all real numbers. 3 I )( ™~ & 3 {
¢y €. The solution is the empty set.
B\x = ;—_3 /
State whether the equation is an identity, contradiction, or conditional equation. /

() Identity /Y
() Contradiction

{} Conditional equation

Answers A. The solution set is ‘{ -1 }- (Type an integer or a simplified fraction.)

Conditional equation

ID: PF.1.69

56. Solve@;;} /j' )_(_ e ;) = 6
A Py 7 %= 67X
I /5 )<

Answer: - 3x+6 @/&) <//) w-})(f’c ™ ’//f h///l(

ID: PF.1.87

y=

57. Solve the equation éy/) 7 )(-‘f 2Ny ,/
7x+2y=11 ’ /
. |(Simplify your answer.) 7/{“7 Z/'— //( // ’—_ 7><

9 < W=
Answer: 7 11 : ? { / —‘){

-—Xx+— g “ S L
277 2 o —
: ' &
%L 3

ID: PF.1.89 | |« /Z—é

—r— — — s

_— e —

=
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rd (rs P e i_ — {
58. Solve the quadratic equation by completing the square. A: T 9’( f (( (‘.{)) - / / v (ﬁ‘/))
- 2o e gl
X2+ 4x=T77 /( T+ ()= 77+ (EJ/J_/’/ —
The solution set is { | { L S/,( o= ('/ 77 L /\/'7‘2 g 7

(Simplify your answer, including any radicals and i as needed. Use integers or fractions for any numbers in the expression.

Use a comma to separate answers as needed.) )/ A X~ ¢ T F/ Y _ /<+Z -
~ 1 hl
Answer: 7,~ 11 ()({“ZI)(—/Z}" 6?/ , l fi’ 4/)(“9( 2 - \
Wr)= 7/ At kfﬁﬂﬁ“
B ID: PF.5.15 [m = -,L(/—) @ ________7_.—-——
59. Solve the following equation. - ; oo )
8=2+2(x—15) l/ L /)( /_;
The solution set is { - f} X - Z T 2 ¥ _) .
Answer: 18 Z X 4
nswer: 5 Pr—zﬁ — ()( *"'Z j"f 2 /
a2 N,

— o S —

60. Solve the equatlon@onng Z/E’FJZTZ— % _—— \

22 +2z-35=0 ~ (/C })(Z'f’/)‘_v 'x\

What is the solution set7 g —_ 5/::, o a’( Z 7"7 D
{ } (Usa a comma to separate answers as needed. .//
E~5 +5= 0T Of—%

e e . e

5

Answer: -7, 5

- “@& Use Gucd i 4.,_.,,,,_,4{_ e
o [25422=357=0 N\
G=ly b=2, ¢=3y f =~ 1< 1
- II <. ) fmj{./ ,:—'7 7 '|I

’L'— Zéq L/QC ?0‘( | /i/: _/f-é OK X:~/~€’

| S—— ,:f————-"-—-r—"— p—

-/ L)+(/(7~) ‘7‘(()('5‘> Y= . |
T / CA=E > |
Y’ +/F T/ }

a4 ,’
X~ ~2 By / |
X’ —{ f/?z: /

l
_,2, A= f’&

17 of 43 \ J’/(:/__,./’_\ T TS 9262019, 12334 PM
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61. Solve the inequality 12 — 3x < 6. Graph the solution set.

In set notation, the solution is {x| I } (Type an inequality.)

Graph the solution set. Choose the correct graph below.

O At ——— () B, < —————
15 12 9 £ 3 0 3 9 6 3 0 3 6 9

O C. ot ——+->
9 6 3 0 3 6 9

Answers x> 2

ID:1.1.4

| Vid4

A A 1< |

)
——— __-_-_"‘-‘.._ 3 C‘“‘ ///j ‘;._/;a 5 4 V db\.\_"/
f oo 2y ST

B Zf) ¢ P < ,4*2_,.‘\‘“--.

18 of 43 9/26/2019, 12:34 PM
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62. Find the following for the function f(x) = 3 + 4x - 4,

19 of 43

(a) f(0) (b) (1) (c)f(-1)
(e) —f(x) (N f(x +2) (9) f(5x)
(a) f(0) = (Simplify your answer.)

(b) f(1) = (Simplify your answer.)
{c) f(-1)= (Simplify your answer.)
(d)f(—-x)= (Simplify your answer.)

(e) —f(x)= (Simplify your answer.)

() f(x+2)= (Simplify your answer.)
(g) f(5x) = (Simplify your answer.)
(h) f(x + h) = | (Simplify your answer.)

Answers -4
3
-5
3x? -4x -4
-3 -4x+4
3x% +16x + 16

2

75x" +20x -4

3x2 +6hx + 3h° + 4x + 4h - 4

ID: 1.1.43

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(d) f(-x)
(h) f(x +h)

9/26/2019, 12:34 PM
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63. For the given functions f and g, complete parts (a)-(h), For parts (a)-(d), also find the domain, y )
fx)=2x+1; g(x)=5x~9 24;(/ 1O = (=

(@) Find (F+ @)(x). (&4t ) 1 (Sx=7) _ C“W)
(f+g)x) (Simplify )(X il 5 ( - / ( i
g)yx)= implify your answer. 3 >
What is the domain of f + g? Select the correct choice belogv and, if necessary, fill in the answer-box t6 complete your
choice. (’ s ) /})( )
‘L) — 9 &)

finalm1314C0O093sulllljjfoil-Alfredo Alvarez

A. The domain is {x| }.
(Use integers or fractions for any numbers in the expression. UUse a comma to separate
answers as needed.) (2/(,/; /) — ( Sx—5' J= J N
4
B. The domain is {x| x is any real number}. 2 At / — {/ r 7 )/‘l 764 \
(b) Find (f- g)(x). —= -
(__,) = /O b i /V )/ /
f-g)(x)= (Simplify your answer.)
What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer Q¥to com_glete ?our
choice. ( /}J}
f A K
) A. The domain is {x| } fl‘[}() L4 ) (*‘) -
(Use integers or fractions for any numbers in the expression. Use a comma to separate e r——
answers as needed.) 2 ¥ 7~/ /} ﬁg ' —; ) - = L o &
B. The domain is {x] x is any real number}. . —< | )
{I y }/)(L'—/av(’_r'j s ;/}(A \

(c) Find (f = g)(x). ]0/ — & o~ - - ]
A T >
(Simplify youQn #~ )(/ /]//

(fea)x) = answer.) (

What is the domain of f« g? Select the correct choice below and, if necessary, fill in the answer bo cuniple!e your—" --
choice. g P ———

5 M-

[

) A, The domain is {x] 2 ( b
(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.)

(2 B. The domain is {x| x is any real number}. _,’ L(Q 'S J 3 '.'Md "'7 s B
(f] ) ==
(d) Find | — | (). T e Y :
g 2 Xt [ TN 5(,-3‘ 5T )
il _ o — & Ul g ' €=
[E} (x)= (Simplify your answeér.) S)( -1 ‘ "'(f = £~}< N i

\_ﬁ_\_________’___/_- >

f
What is the domain of —? Select the correct choice below and, if necessary, fill in the answer box to mpi te_yourdﬂmce

(r’—f‘d{%) /xX—y \\"'fa
A. The domain is {xl 7 /‘j /3) 7ﬂ/ J’ =l

(Use integers or fractions for any nuf in the expression. Use a comma to separate

answers as needed.) - j ) [ 3 ) Z/’— d _—

B. The domainis {x| x is any real num L B —
, ( / o ) / 5 ) 7
(e) Find (f + g)(3).

20 of 43 9/26/2019, 12:34 PM
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(f+9)(3) = (Type an integer or a simplified fraction. )( '))(%j s ;});//“
= . < /&
(0 Find (f- 9)2). ( 5/ (2) - |
Z *—é o
(f-g)2)= ' (Type an integer or a simplified fraction.) % /) (2 ) f‘/ /

(9) Find (f- g)(4). )
(feg)(4)= (Type an integer or a simplified fraction.)
— \(F s k- (0 =57

(h) Find [é)m). ( }/c/) /(,f(g/) / ~/}((// Vi
(1](1)=! (Type an integer or a simplified fracfion.) «J((()ﬁ(} —f }/ //
)T —— Y ICIN r
Answers 7x- 8 (L,C.)/(V) /U(/G ) SIE(Q)
¢ /[, L// 6O —

- 3x+10 (ﬂ.c//q)_ /&’gr == 7

B. The domain is {x| x is any real number}.

e ,)m 75

B. The domain is {x| X is any real number

B. The domain is {x| x is any real numbe‘?‘} e S ——
2x+ 1 Z )( “r /
5x-9 )(
9 .
A. The domain is {x| x#e P

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

: /-/ )( -1
Gl 55,
IOk = ¥

S w

ID: 1.1.67
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64. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant ( 3/1 )
(d) whether it is even, odd, or neither

——, X "j \./
e L= lired v}//n Lo o *

(a) What are t(mtercepts"

)(/I'\l ‘/]J (‘_—-! ) (f/ L)) (0/ I)

(Simplify your answer. Type an ordered pair. Use a comma to separate answejs as needed.)

®) The\do'mém (=3, J & ( / et Vishs
(Type your answer in interval nétation, -
Th{rangé?s r/C7 | j é/ [ /’( ”‘/ ; O/]

(Type-your answer in intervaf notation. )

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

) A. The graph is ir(q[eagi_rfg.on é // C)J ( F 2
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your

choice.
e [ o, 1]
A. The graph i{ decre-aE on ’7 )
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

\:t'h The graph is‘not constant on any interval T

e

(d) The functionis (1)

(1) ) ne:thekdd nor even,

-::_ “even.

) odd.

22 of 43 9/26/2019, 12:34 PM
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Answers (- 1,0),(1,0),(0,1)
[-3.3]
[0.1]

A. The graph is increasingon | [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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65.
(a) Graph f(x) = |x - 4| - 3 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis mj
that lies below the x-axis. 8
(a) Graph f(x). o
(Use the graphing tool provided to graph the function.) 4’_
2+
(b) The area of the region bounded by f and the x-axis that | K
lies below the x-axis is | square units. e e T —r—T P
(Simplify your answer.) A0 cAhe 8 oA N < 4 & B W
-
B
B
Answers
ID: 1.5.81 j
/-’ //7 //Va// N vlm ol
z .
‘7 G s ﬁ( S
//
b —
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¢ 3, (6.0)
4 Xe ™
_ R £ 7.
Select the correct choice below and, if néétﬁs?ﬂ;jﬁll in the answer box to complete your choice.
Y e

66. Find the slope of the line joining the points (4,3) and (6,0).

/= o 2= 3=}
) A. The slope is pre . / - » ’_( 6)
(Simplify your answer) ’\/_C:&:ﬁﬂ, / (/L ) T
(O B. The slope is undefined. ﬁ) {}h -
(=
Answer: A. The slope is| -% (Simplify your answer. /;;/ vl

ID:2.1.2

Yo —[2w = ~[¥ £+ 2C5Z
4@)( — W"%“’ﬁf’é‘o-’ Z =l -r-'g 640 /2 &
GoX =—/s At DIV

67. Solve the following equation.

40x - 1200= - 15x + 2650

ISr}?n:;:;t;?onursZ::wer.) -4((*-} )< TS X - 7{/)( A 3 Xﬂ) 'IL'/ TX/
Answer: 70 (S“S )( - 3 7}_?
Y S5 /
D244 (X =70
68. It fx)=x? - 9, find (- 5). ___,_ﬁ__ﬂ

f(-5)= ' ;.4((/(’)(1_ 9

e /YV‘S).I 3
Answer: 16 ‘ = == l % &
SIS T i
ID: 2.1.5 B /{(”S’ ) ~ (.ﬂg-)(,__ ) —9

/;_g) = y&&jx — 4

—_

£(-5) = /¢ ke 'l

.
-
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69.
(a) Find the zero of the linear function and (b) graph the Ay
function using the zero and y-intercept. 72'_
10+
g(x)=3x-9 3
B
(a) The zerois | G'.
(Type a whole number.) 4
(b) Use the graphing tool to graph the linear equation. Use 2‘_ i
the intercepts when drawing the line. Tt >
12 <10 B & -4 2 4 2 4 & & 10 12
-2
e
o4
,6.
B
A0

Answers 3
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70.
(a) Find the zero of the linear function and er
(b) graph the function using the zero and y-intercept. 12-
10
g(x)= —4x+8
1
(a) The zero is o B-.
(Type a whole number.) 4-
(b) Use the graphing tool to graph the linear equation. Use 2'_ X
the intercepts when drawing the line. LA B S S B e A I o1
12 <10 8 6 4 2 4 2 4 6 8 10 12
-2
"
B~
B
0=

Answers 2 Lf.’ o J—

-
>

(0) fobivt

sy
4 68 B 10 12

ID: 2.1.23

N

(r’ Min = -/ (& \\‘_ \
 —max =/ \)
\7"" ////g?f % "_/'\.:’
l7 = /’?‘If./( Td/\")

/’/_’_._-
= _____—_‘_-_‘\‘_‘——;_‘ =
27 of 43 \_,/"~//7 , 9/26/2019, 12:34 PM
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Factor the gwen polynomial completeiy If the polynomial cannot be factored, say that |t is prime.
SO T/

71,

\‘_“__ 2
X" +8x+15
Select the correct choice below and fill in any answer boxes within your choite./ )( {, 33 ()( N )

C hed
D)

A. x4 8x+15=
) B. The polynomial is prime. L
/ )(—,f— SX 3 X5
{
Answer: A. x? +8x + 15 = (x+3)(x+5) 1 P e
e Y Pt =
ID: 2.3.1 = 45‘( =3
72, Solvﬁthe equation. o _-'-7_ _)(,:5/’:/, v e < Z;(;/ = T
(s 7y oy O 200/~ = 0~/
x =—/

(x=5)(2x+1)=0

The solution set is { } (Use a comma to separate answers as needed )
/"/ S——— / P, <
1 ( Ol 2o
— - Co g
&= T
/ ey

Answer:;
5 2
C Xz D

ID: 2.3.3
. N\
73. Find the zeros of the following quadratic function(by factoring, What are the x-intercepts of the graph of the function?

f(x) = x° - 4x
Select the correct choice below and fill in the answer box to complete your choice

(Simplify your answer. Use a comma to separate answers as needed.)

A. The zeros and the x-intercepts are the same. They are
, the x-intercepts

The zeros and the x-intercepts are different. The zeros are

L B. are .
Answer: A. The zeros and the x-intercepts are the same. They are 0,4
LA >
ID: 2.3.13 X —¥ ) = O
()(_ 2 ) -
Fwﬂ a/L A 2

d V "
9/26/2019, 12:34 PM
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/’/J-'t. n_
74. Find tr{eros q_f the quadratic function t@ctorlng What are the x-mtercepts of the graph of the function?

g09)=x>-100 AA )( ”"/OD - /

_ . w ()L —(/IE O
Select the correct choice below and fill in the answer box to complete your choice. ( .
(Use a comma to separate answers as needed. Type an integer or a simplified fractlon )

The zeros and the x-intercepts are different. The zeros are

i , the x-intercepts
™ S
LA e . ((// )(/( /\_!’) -2
¢y B. The zeros and the x-intercepts are the same. They are 7L —f ) =
: XA/V = ©
. o< X~ o1 077
Answer: B. The zeros and the x-intercepts are the same. They are 10,-10 )

Vsl )70 S0 G =0 YW
ID: 2.3.15 ( X’“‘*/Cﬂ W[ ({(_ |

7 —=
= ,ﬁ. /.1‘} )
75. Find@ zeros of the quadratic function I(factoring. What are the x-intercepts of the graph of the function? [
2 =5 SO e
F)=x" +x-2 AU X f)( ¢ = ¢

Select the correct choice below and fill in the answer box to complete your choice. ' ) é(f )
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

, the x-intercepts /(* (} =0

are . /( / =3 (/7(’(
(1 B. The zeros and the x-intercepts are the same. They are /( /_f / —= \),7;/ OK /M‘f{ ,z 0—«&

Answer: B. The zeros and the x-intercepts are the same. They are L =24 . »1, ﬂ CX—' "2-

ID: 2.3.17 (X =

'\,\_________—____.:--_—_"'-"_'_ =

~ X7

) The zeros and the x-intercepts are different. The zeros are
1A

76. Find the zeros of Q‘t/ quadratlc functlon by c‘{orlng What are the x-intercepts of the graph of the functlon‘? -

o) = 3% - 8x-3 55( — X0 (X'f’ )((“'j) ~ O

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

™S O Ko
{71 A. The zeros and the x-intercepts are the same. They are 5 X/ // = o (

The zeros and the x-intercepts are different. The zeros are

, the x-intercepts
B. are : 3)(_(@/’% (./) ""'/ O% )(_5/} (—(/f/
3 '( = )1 ' ""'_"“wi(,
Answer: A. The zeros and the x-intercepts are the same. They are - 3,3 p,
ID: 2.3.19 ,3* )< - J
- b S

290f43 A 9/26/2019,-12:34 PM-
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77. Find th(zeros of-lhe foIIowmg quadratic funeﬁg_ lmg What are the x-mtercepts of the graph of the function” '$ rof )

gx)=x(x+9)+14 ( L/ 7(’)*?{‘7)#_/\_ . Z Z/

X 7 2= O
Select the correct choice below and fill in the answer box to compléte your ch0|ce
(Simplify your answer. Use a comma to separate answers as needed.) C)( - Z_) @7’“ /)
The zeros and the x-intercepts are different. The zeros are . the x-intercepts —
A. — ()f" X'_(N /
are . X ¢ =¢C :

B. The zeros and the x-intercepts are the same. They are [{ Z { (,) '-(_ ( ]1'(’ /‘(/ / / C = /
/

Answer: B. The zeros and the x-intercepts are the same. Theyare  =2,-7

ID: 2.3.23

78. Find tha@eroa of the quadratic function using thgsquare root method Whal are the x-intercepts of the graph of the
function? A A @ _—y) — ‘7-' =

90 = (x =4 - 4 ()(/qy T% vl —s

e = ot
Select the correct choice below and fill in the answer box to complete your choice. [/ Q/ f»} = = (4‘/9/
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) )( — o+ 2

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

A - ) (" V — 'Z_. 9, /-Z /t/-_ V/ i

() B. The zeros and the x-intercepts are the same. They are

O 17 ) L
=Y+ =+ oL )("Y-fV\Z-fy
Answer: B. The zeros and the x-intercepts are the same. They are ' 6,2- a& (/r,’_"” 6 M\.}li, 4

< X = Z“ A

ID: 2.3.29

79. Find the real eros ’@any. of the quadra;ac function using the@adr'atic for;nu!}. What are the x-intercepts, if any, of the

graph of the ncﬁo /,(] {X‘ YA G A 7““’ | L// (_)(_) ;7?“_ =
R 10) + rort—v( )(’3 oty reo—
5 4 - ] ! i, R,
f(x) W r10x+22 " lJ Ve i, W) B % 2 k- ) =
b=ty c=20 N\ Za. B . e a0t T
elect the Carrect choice helow and;if rTe’cessary f Il in the answer box to complete your choice = £
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Ese a comma to
separate answers as needed.) - —/0 T ((_’ 5
<1 A. The zeros and the x-intercepts are the same. They are 2
- ~ ~fo 4 V"{f U/_f
) The zeros and the x-intercepts are different. The zeros are , the x—lntercem:r—*é—-—
) B.

are ) e
XT'VUTZV;
2 > B
X© 7Y =& 2\
- = IS
Answer: A. The zeros and the x-mterce_p_ts are the same They are =5+ ﬁ -5- -J_ ) ==

C. There is no real zero solution and no x-intercept.

ID: 2.3.39

(= ~5-V3 ‘:7—_ R
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= a =1 7. C=—1 (e bt
Find tjfe zeros, if'any, of the ‘quadratic- functlo‘h usjng thttqd‘a”arafic formula: What are th the x-mtercepts if any, of the graph

80.
of the'function?
W= —btB? < T - (2) (D () 0 L H T+ E
2 — - o
f(x) = 2x -1+2xk Zc _ 2 B
—— = ﬁ/}m/u- (2) =2 UL
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ~ ——
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) = ~C 1t -3
A. The zeros and the x-intercepts are the same. They are - _ 7
=& D 4 3
The zeros and the x-intercepts are different. The zeros are , the X-intercepts 21 ‘/ﬁ_cr v 2
O B. are . e D v
= =2 tlvz
() €. There is no real zero solution and no x-intercept. = (/
= (~(+/v3)
—1+4/3 -1-43 v (2
Answer: A. The zeros and the x-lntaroepts are the same. They are 2 i 2 . -2
il ST —( €3
- =/ 1V3 1 3 < F LA
ﬂ )( o ’/ S z_
ID: 2.3.47 \ﬁJ
— ———— = =
/‘_,’ﬂ-—-‘.\ — e
81. Find thé real zeros of the quadratic function usmg angunethod you wis h What  are the x-intercepts;-if any, of the graph of"\

31 0f 43

S @?/ (J/)(/ /O)( __! 71’2 i 4/ B /mﬁ’)tjp
G(X)=10x% - 17x - 20 az/2) b7, C=720

¥ {7
Select the correct choice below and fill in the answer box to complete your choice/" '( / 7 ) 3 U 7 )) ~Y //‘—))E_f ’)

Z&OJ
) A. The zeros and the x-intercepts are the same. They are /'/:- 7 + (/r ’, ! " {-: =
- The zeros and the x-intercepts are different. The zeros are , the x-intercepts ~.U
OB are . / = | 7TOVWT
T
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) )(, 'é' 3 )

m|-h
N|0’|

Answer: A. The zeros and the x-intercepts are the same. They are

r< (122 ox AF ’24{%2
ID: 2.3.81 p { 3 @K \/’ "‘:Z_é

9/26/2019, 12:34 PM
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T rszo 97 oo
At s <u—y (Y\’ X~ 4307 F

Select the correct choice below and, if necessary, fill in the answer box to complete your answer,

%( S (Y
) A. The real solutions are

(Simplify your answer. Type an exact answer, using radicals as ne: ded Use a Q_ornma to
separate answers as needed.) % -~

) B. There are no real solutions.

finalm1314C0O093sulliljjfoil-Alfredo Al\rf ez

82. Find the real solutions of th

20x° +13x-15=0

53

Answer: A. The real solutions are - '2,'; ]l

Simplrfy your answer Type an | exactanswer, ‘using radicals as needed. Use a comma to separate answers as

eded) Hd* (/)(rs )Tﬁ = f

ID: 2.4.2 2 )(L —r‘lﬁ)(ﬁfr = &—(,:0,,( o

i,

83. Match the graph with the fc follow:ng functlnn

f(x)=x° - 16x + 64

Choose the correct graph below.

i v )
%’"/’7"‘1 0 —/ 2_ l:f V/U /}1 i \: \\‘l
Vi— s \"‘. C/7 ,\_,// \._—"/'u"' [
(—hex =/L G S Sl

A —-Miv = ~/ ——=
ID: 2.4.15 L/ o« =0 (%“X%——/@X’féy \

320f43 - 9/26/2019, 12:34 PM
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84.  Match the function f(x) = x2 - 4x to one of the given graphs.

Choose the correct graph below.

Answer:

ID: 2.4.19

—— -
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/ For the quadratic function f(x) = X2 +6x - 7, answer parts (a)

through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

https://xlitemprod.pearsoncmg.com/api/v1/print/math

down 20 -16

up
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractions for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is :
(Type your answer in interval notation.)

The range of f is .
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Tvype your answer in interval notation.)

350f43

16

20

9/26/2019, 12:34 PM



finalm1314C0093sulllljjfoil-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers up
(-3,-16)
x=-3

A. The x-intercept(s) is/are -71 l-
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is S |.(Type an integer or a decimal.) ———,

20

ID: 2.4.37
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For the quadratic function f(x) = X2 +4x + 4, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?
down
up

What are the coordinates of the vertex?

The vertex of the parabola is ;

(Type an ordered pair. Use integers or fractions for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis .
(Type your answer in interval notation.)

The range of f is .
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

38 0f43
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Answers up
(-2,0
x=-2
A. The y-intercept is 4 ".(T ype an integer or a decimal.)

A. The x-intercept(s) is/are _'— -2 _
(Type an integer or a decimal. Use a comma to separate answers as needed.)

) ¢)

20 -16 -12 -8 -4 ';"'4'”%"'1'2"'13"'2{1
W) 4

) st

(\/r/i/!.‘(» ,'3-.

SRR 5

\ﬂ?l-ﬂ }

\x_/_/ 16
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87. Find the complex zeros of {he quadratlc function, Graph the fun ion-and label the int Interoemts / % ',.r.c S]

/‘ ~
x) = x° - 14x+ 65 U 5 A ? (’] )Q y
The zeros of the function are | | R

(Simplify your answer, including any radicals and i as needed. SE“lﬁtegers or fractions for any numbers in the expression.
Use a comma to separate answers as needed.) .

Choose the correct graph below.

40043 ———— il 9/26/2019,12:34 PM
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88. Solve the following inequality. Graph the solution set. G )( - Z > C/‘9
6x-2>40 Q,(ﬂ_)%fz’j o+ L
The solution is | . C-: )( > 9” 2.

(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

Choose the graph of the inequality below. ‘ g X > _.%__L__

Answers (7,00)

<
C. 129 6 30 3 6 9 12

ID: 2.8.4

89.  Find (- 8) if f(x) = 4x° + 5x + 9.

(-8= (Simply your answer. Type an ineger or a fraction) _
Answer: 22 £ = Pyt rexe s k@ o
g - S0 TSP 9
A1) © Y07 ~+ O8N 1

A-7) = ¢6r) TS5/ 77
/[(._fi/”: 2 S6 — Y0 74 ‘\

-g)s 225 2

1

41 of 43 9/26/2019, 12:34 PM
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90. Solve the inequality. Express your answer using set notation or interval notation. Graph the solution set.
T < -
11-2x<7 i LS 7
Choose the correct answer below that is the solution set to the inequality. // . Z )( _ / / < 7 / /

A, {X[x= -4} or[-4,00)

— <<
) B. {x|x22}or[2,00) Z )< e
() C. {x]x<2}or(2,00) —”é’ X -~ __,7
(O D. {X]x2 =2}or[-2,00) — — L

Choose the correct graph below that is the solution set to the inequality. (j? > / /

OA_«—H+|—«—|—H—|—+—(-MQB_4H!%%HH‘ .,-‘ ¥ i
a2 9 6 3 0 3 8 9 6 3 0 "3 6 9
() Q. Sttt ——————- ) [) -
-9 -6 -3 0 3 6 9 -9 6

w
o
&k

ID: 3.6.1 (

91. Evaluate the following expression, if possible.

93/2

Select the correct choice below and fill in any answer boxes in your choice.
(A g3/2

() B. The solution is not a real number.

Answer: A, 9°/2 =| 27 | 3
ID: Quick Check P4.1.10 3 _ <

92. Given h(x)=2x? - 7x+5, find h(-7). /4/\// =X L'—"7 X7
h(-7)=| ] //;7 (*)/) ;Z(*)f) Cp=7) #57 .
~7 (—7)F7) — -y / /
N=1)=<(%s) "‘77('[—3'7“3 ()L
ID: 4.1.1 n(-7)= / s f5+)" \
: )= L a -
H(2)= /S‘R

—— —\\—-—__________ e = = v
492 of43 — TTTTTTT9/26/2019, 12:34 PM

Answer: 152
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/—r T

93. <Solve by using’the quadratic formula.

x2-2x-15=0

The solution set is {I T - _-|}-.

(Simplify your answer. Use a comma to separate answers as needed. Express complex numbers in terms of i. Type an
exact answer, using radicals as needed.)

& =X =¥ =2
Lo =2, E.~ ~hf

(/ /T L ymle-
o 1) I

(1/

Answer: —- 3,5 { )(

43 of 43 9/26/2019, 12:34 PM
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